General	Info

Number:

**Description:** 

PROJECT NO. 53-16-02

REPAIRS AND RESURFACING, ERIE ISLANDS SERVICE PLAZA, MILEPOST 100.00, SANDUSKY COUNTY, OHIO

Deadline: APRIL 28, 2016 AT 2:00 P.M. (EASTERN TIME)

(Estimated Cost: \$330,000)

Bids		
Business	Bid Total	
ERIE BLACKTOP INC.	\$	215,479.40
GERKEN PAVING INC.	\$	307,140.50

## ERIE BLACKTOP, INC.

Ref. No.	Item No.	Description	Quantity	Units	Unit Price		Extension		
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND							
		PAYMENT BOND	1.00	LUMP	\$	1,250.00	\$	1,250.00	
2	254	PAVEMENT PLANING, ASPHALT CONCRETE (T=3")	12,300.00	SQ.YD.	\$	2.15	\$	26,445.00	
3	SP 402	ASPHALT CONCRETE INTERMEDIATE COURSE, USING	-						
		CRUSHED STONE, PG 76-22(FR)	600.00	CU.YD.	\$	122.00	\$	73,200.00	
4	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED							
		STONE, PG 76-22(FR)	430.00	CU.YD.	\$	150.00	\$	64,500.00	
5	SP 404A	JOINT SEALER	5,000.00	FOOT	\$	0.60	\$	3,000.00	
6	SPECIAL	TRACKLESS TACK	2,000.00	GALLON	\$	1.90	\$	3,800.00	
7	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	50.00	CU.YD.	\$	245.00	\$	12,250.00	
8	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$	16,500.00	\$	16,500.00	
9	623	CONSTRUCTION LAYOUT STAKES, AS PER PLAN	1.00	LUMP	\$	2,950.00	\$	2,950.00	
10	624	MOBILIZATION	1.00	LUMP	\$	5,000.00	\$	5,000.00	
11	642	4" PARKING LOT STALL MARKING, TYPE 1	11,050.00	FOOT	\$	0.25	\$	2,762.50	
12	642	6" EDGE LINE, TYPE 1	1.55	MILE	\$	1,625.00	\$	2,518.75	
13	642	10" TRANSVERSE LINE, TYPE 1	880.00	FOOT	\$	0.40	\$	352.00	
14	642	HANDICAP SYMBOL MARKING, TYPE 1	2.00	EACH	\$	36.75	\$	73.50	
15	642	WORD ON PAVEMENT, 72 INCH, TYPE 1	00.00		۰ ۴	00.05	\$		
16	642	YIELD LINE, TYPE 1	20.00 36.00	EACH FOOT	\$ \$	26.25 2.65	Ψ	525.00 95.40	
10	642 642	ARROW ON PAVEMENT, 72 INCH, TYPE 1	7.00	EACH	э \$	2.05 36.75	э \$	95.40 257.25	

Total: \$ 215,479.40

## ERIE BLACKTOP, INC.

DEDUCT ALTERNATE CREDITS		
Name	Include in Total	Response
TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT - ALTERNATE INGRESS/EGRESS >> A Temporary Access Deduct Alternate Proposal is included in the Bid Submital:*	No	No
TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT - ALTERNATE INGRESS/EGRESS >> Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number):	No	
TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT - ERIE ISLANDS BACK ACCESS GATE >>	No	
A Temporary Access Deduct Alternate Proposal is included in the Bid Submital:	No	Yes
TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT - ERIE ISLANDS BACK ACCESS GATE >> Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number):		
	No	\$2,000.00
IF OFFERING CREDITS ON BOTH ALTERNATE DEDUCTS >> Select One		
	No	

## GERKEN PAVING, INC.

BID FORM: PROJECT NO. 53-16-02 (Ref. Nos. 1-17)								
Ref. No.	Item No.	Description	Quantity	Units	Un	nit Price	Ex	tension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND		LUMP				
		PAYMENT BOND	1.00		\$	1,500.00	\$	1,500.00
2	254	PAVEMENT PLANING, ASPHALT CONCRETE (T=3")	12,300.00	SQ.YD.	\$	3.40	\$	41,820.00
3	SP 402	ASPHALT CONCRETE INTERMEDIATE COURSE, USING		CU.YD.				
		CRUSHED STONE, PG 76-22(FR)	600.00		\$	155.00	\$	93,000.00
4	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED		CU.YD.				
		STONE, PG 76-22(FR)	430.00		\$	175.00	\$	75,250.00
5	SP 404A	JOINT SEALER	5,000.00	FOOT	\$	0.60	\$	3,000.00
6	SPECIAL	TRACKLESS TACK	2,000.00	GALLON	\$	1.80	\$	3,600.00
7	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	50.00	CU.YD.	\$	175.00	\$	8,750.00
8	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$	37,000.00	\$	37,000.00
9	623	CONSTRUCTION LAYOUT STAKES, AS PER PLAN	1.00	LUMP	\$	5,000.00	\$	5,000.00
10	624	MOBILIZATION	1.00	LUMP	\$	25,000.00	\$	25,000.00
11	642	4" PARKING LOT STALL MARKING, TYPE 1	11,050.00	FOOT	\$	0.55	\$	6,077.50
12	642	6" EDGE LINE, TYPE 1	1.55	MILE	\$	800.00	\$	1,240.00
13	642	10" TRANSVERSE LINE, TYPE 1	880.00	FOOT	\$	2.75	\$	2,420.00
14	642	HANDICAP SYMBOL MARKING, TYPE 1	2.00	EACH	\$	85.00	\$	170.00
15	642	WORD ON PAVEMENT, 72 INCH, TYPE 1	20.00	EACH	\$	125.00	\$	2,500.00
16	642	YIELD LINE, TYPE 1	36.00	FOOT	\$	8.00	\$	288.00
17	642	ARROW ON PAVEMENT, 72 INCH, TYPE 1	7.00	EACH	\$	75.00	\$	525.00

Total: \$307,140.50

## GERKEN PAVING, INC.

DEDUCT ALTERNATE CREDITS		
Name	Include in Total	Response
TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT - ALTERNATE INGRESS/EGRESS >> A Temporary Access Deduct Alternate Proposal is included in the Bid Submital:*	No	No
TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT - ALTERNATE INGRESS/EGRESS >> Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number):	No	\$ -
TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT - ERIE ISLANDS BACK ACCESS GATE >> A Temporary Access Deduct Alternate Proposal is included in the Bid Submital:	No	Yes
TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT - ERIE ISLANDS BACK ACCESS GATE >> Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number):	No	
IF OFFERING CREDITS ON BOTH ALTERNATE DEDUCTS >> Select One	No	\$ 9,500.00 "Exclusionary Credits"